
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 2nd Week, 2nd  Day Addition and Subtraction 
Q.No.1. Choose the correct option. (0.75 x 4 = 3) 
i) Sara has Rs.1 275 in her bank. She deposits Rs. 1 467  more. How many
rupees Sara has now?

  1 467  1 275 
(a) Rs. 2 742  (b) Rs. 2 842  (c) Rs. 2 345  (d) Rs. 2 567 

ii) Ammar has Rs. 3 460 and Hammad has Rs. 4 786. How much total money

do they have?  4 786  3 460 
(a) Rs. 8 567 (b) Rs. 8 446 (c) Rs. 8 350 (d) Rs. 8 246

iii)Add 8 439 and 4 798. How much is the total?

  4 798  8 439

(a) Rs. 13 137 (b) Rs. 13 237 (c) Rs. 13 067 (d) Rs. 13 087

iv) Zaid and Ashraf saved Rs. 34 056 and Rs. 65 430 respectively. Their total

saving is:  65 430  34 056 
(a) Rs. 90 959 (b) Rs. 99 500 (c) Rs. 99 486 (d) Rs. 90 586

Q.No.2. Zaid has 36 798 books in his shop. He bought 57 385 more books.
How many books are there in his shop now? (1 x 3 = 3)

 57 385  36 798 

___________________________________________________________________

___________________________________________________________________
Q.No.3. A bus covered 23 672km distance in the first month, in the second
month the same bus covered a distance of 31 716 km. (1 x 4 = 4)

 31 716  23 672 
a) Find the total distance covered in two months. 
___________________________________________________________________

___________________________________________________________________

b) In which month did it cover more distance? 

___________________________________________________________________

___________________________________________________________________
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